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100cm | 50cm | 5cm 100cm | 50cm ___ 5cm

1 |=/NETRET 0.16 0.19 0.69 21 |#REBIE (30 0.13 0.15 0.20

2 ;7—}%@%\% 0.07 0.07 0.09 22 |FEHADVELT 0.08 0.09 0.14

3 |EE ) 0.08 0.09 0.12 23 |FEmEAE 0.10 0.14 0.20

4 |shEEE () 0.07 0.06 0.07 24 |tEESRR 0.08 0.07 0.08

5 |EEIBOELT 0.1 0.12 0.26 25 [4Bs 2= 0.07 0.06 0.06

6 |shERIE (L) 0.08 0.08 0.09 26 |18 Rig= 0.06 0.06 0.07

7 |REGD 0.08 0.1 0.17 27 |BLE#KE @) 0.10 0.14 0.25

8 |[ELADVELT | 009 0.1 0.17 28 |BLEE 0.1 0.17 0.32

9 |EBEVILF 0.16 0.20 0.49 29 [BLE#KiE ) 0.12 0.18 0.45

10 ﬁfﬁt%'ﬁ”‘g 0.08 0.07 0.10 30 |BLHEKE @) 0.12 0.18 0.50

1 |4EE () 0.09 0.10 0.10 31

12 |5 AR (7) 0.10 0.14 0.31 32

13 |AEREVSLTGED | 009 0.10 0.13 33

14 |keBERIE (79) 0.13 0.16 0.22 34

15 |5i5 0.13 0.12 0.12 35

16 |FEREVSLT@E) | 010 0.12 0.18 36

17 |keBefE (7) 0.13 0.16 0.18 37

18 |HeBERIE (30 0.09 0.12 0.14 38

19 |5+ ERIE (7) 0.1 0.1 0.12 39

20 |[HEMADAE 0.09 0.10 0.10 40
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